PERCENTAGES: Find a percentage of a given amount (whole numbers)

Date:

Calculate percentages of given amounts. Round to 2 d.p.

(1]

(4]

(71

[10]

[13]

[16]

[19]

60% of 407 =

11% of 500 =

66% of 755 =

33% of 857 =

41% of 699 =

14% of 748 =

39% of 459 =

(2]

[5]

(8l

[11]

[14]

[17]

[20]

37% of 801 =

62% of 472 =

8% of 318 =

71% of 742 =

39% of 178 =

76% of 252 =

19% of 532 =

3]

(6]

[9]

[12]

[15]

(18]

[21]
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13% of 971 =

45% of 602 =

3% of 444 =

52% of 575 =

14% of 915 =

16% of 686 =

86% of 636 =
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ANSWERS

PERCENTAGES: Find a percentage of a given amount (whole numbers)

Date:

Calculate percentages of given amounts. Round to 2 d.p.

(1

(4]

(7]

[10]

[13]

[16]

[19]

60% of 407 =244.20

11% of 500 =55.00

66% of 755 =498.30

33% of 857 =282.81

41% of 699 =286.59

14% of 748 =104.72

39% of 459 =179.01

[2]

(5]

(8]

[11]

[14]

[17]

[20]

37% of 801 =296.37

62% of 472 =292.64

8% of 318 =25.44

71% of 742 =526.82

39% of 178 =69.42

76% of 252 =191.52

19% of 532 =101.08

3]

(6]

(9l

[12]

[15]

[18]

[21]
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13% 0f 971 =126.23

45% of 602 =270.90

3% of 444 =13.32

52% of 575 =299.00

14% 0f 915 =128.10

16% of 686 =109.76

86% of 636 =546.96



